
Can you grade them using the mark scheme?  Remember to give them a mark out of 20.
Answer 1
I agree with the student because the writer is successful in showing me how the young boy (Doug is feeling.  One of the ways in which the writer does this is using the second person to address the reader – this puts me in Doug’s position, showing me his perspective in phrases like ‘knowing very well that he will be’.  Seeing things through Doug’s eyes helps me to see his confidence in his brother.
I also agree with the student because I know how the mother is feeling. The writer describes her as ‘undecided’ and ‘nervous’ to make the reader see that she’s feeling panicked. In addition, the writer uses an image of her ‘eyes sliding blinking’ to help me to imagine how worried she must be about her eldest son.
This answer gets _______ marks out of 20 because _________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

[bookmark: _GoBack]Answer 2
I think the student is right to say that the writer is successful in showing us how Doug is feeling, because his point of view is the perspective of the narrative. However, I don’t feel if I really understand the mother. 
Doug’s feelings are obvious in the text.  The writer uses the present tense – phrases like ‘You listen’ and ‘You notice’ to guide the reader’s senses as if they were Doug’s. When Doug deliberately stubs his toe on the bed and it hurts, I feel like I know how that feels, and I worry about Skipper too.The sample answers here are just extracts. The ones you write in the exam will need to be longer – but you should still mark these out of 20

But I don’t know if I can understand the mother, because she’s more separate. When she says ‘Because. I say so.’ She doesn’t give her real reasons.  She doesn’t explain why they’re going to take a walk either, just like using a short sentence instead.

This answer gets _____________ marks out of 20 because 

______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
